Thermocouple and RTD Cables

Common Conductor Gauge / Metric Conversion Table (mm)

Loop Resistance for Thermocouple Extension & Compensating Cables

KX

X
JX
EX
NX
RCA
SCA
BX

0.99
0.51
0.51
0.61
1.21
1.32
0.14
0.14
0.05

Excessive loop resistance (ohms / metre) can have an effect on the system accuracy. To establish the loop resistance simply divide the
constant shown above by the cross sectional area (mm?) of your wire you intend to use. Example:

0.5mm? Type KX wire — Calculation 0.99 /0.5 = 1.98
Therefore 1.98 ohms / metre is the loop resistance

The longer the cable length, the higher the resistance.

Resistance Formula: R = pL/A

p: Resistivity constant of the material, in Q.m
L: Length of the wire, in metres

A: Cross sectional area of the wire (mm?)

R: Resistance, in ohms (Q)
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